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Á”uksa ds mÙkj nsus ls igys uhps fy[ks vuqns”kksa dks /;ku ls i<+ ysaAÁ”uksa ds mÙkj nsus ls igys uhps fy[ks vuqns”kksa dks /;ku ls i<+ ysaAÁ”uksa ds mÙkj nsus ls igys uhps fy[ks vuqns”kksa dks /;ku ls i<+ ysaAÁ”uksa ds mÙkj nsus ls igys uhps fy[ks vuqns”kksa dks /;ku ls i<+ ysaAÁ”uksa ds mÙkj nsus ls igys uhps fy[ks vuqns”kksa dks /;ku ls i<+ ysaA

egRoiw.kZ funsZ”kegRoiw.kZ funsZ”kegRoiw.kZ funsZ”kegRoiw.kZ funsZ”kegRoiw.kZ funsZ”k
1-1-1-1-1- iz”u&iqfLrdk ds doj ist ij vFkok vUnj dgha Hkh dqN u fy[ksaA
2-2-2-2-2- ;fn fdlh iz”u esa fdlh izdkj dh dksbZ eqnz.k ;k rF;kRed izdkj dh =qfV gks rks iz”u ds vaxzsth rFkk fgUnh :ikUrjksa esa ls vaxzsth

:ikUrj dks ekud ekuk tk;sxkA
3-3-3-3-3- lHkhlHkhlHkhlHkhlHkh iz”uksa ds vad leku gSaA
4-4-4-4-4- vH;FkhZ vius vuqØekad] fo’k; ,oa iz”u&iqfLrdk dh lhjht dh dksfMax lgh&lgh djsa] vU;Fkk mÙkj&i=d dk ewY;kadu ugha

fd;k tk;sxk vkSj mldh ftEesnkjh Lo;a vH;fFkZ;ksa dh gksxhA
5-5-5-5-5- vH;FkhZ jQ dk;Z gsrq iz”u iqfLrdk ¼cqdysV½ ds vUr esa fn;s x;s i`’Bksa dk mi;ksx djsaA vyx ls ofdZax “khV miyC/k ugha djk;h

tk;sxhA
6-6-6-6-6- bl iz”u&iqfLrdk esa 180 vkbVEl ¼iz”u½ gSAbl iz”u&iqfLrdk esa 180 vkbVEl ¼iz”u½ gSAbl iz”u&iqfLrdk esa 180 vkbVEl ¼iz”u½ gSAbl iz”u&iqfLrdk esa 180 vkbVEl ¼iz”u½ gSAbl iz”u&iqfLrdk esa 180 vkbVEl ¼iz”u½ gSA izR;sd vkbVe ds pkj oSdfYid mÙkj vkbVe ds uhps fn;s x;s gSaA bu pkjksa esa

ls dsoy ,d gh lgh mÙkj gSA ftl mÙkj dks vki lgh ;k lcls mfpr le>rs gSa] mÙkj&i=d ¼vkUlj “khV½ esa mlds v{kj
okys o`Ùk dks dkys vFkok uhys ckWy IokbaV isu ls iwjk dkyk dj nsaA

7-7-7-7-7- vH;FkhZ ukWu&izksxzkescy (Non-Programmable) dSydqysVj dk iz;ksx dj ldrs gSA
8-8-8-8-8- lHkh iz”uksa ¼vkbVeksa½ dk mÙkj fn;k tkuk gS vkSj izR;sd iz”u ¼vkbVe½ ds leku vad gSA vkids ftrus mÙkj lgh gksaxs mUgh

ds vuqlkj vad fn;s tk;saxsA
9-9-9-9-9- vk;ksx }kjk vk;ksftr dh tkus okyh oLrqfu’B izÑfr dh ijh{kkvksa esa _.kkRed ewY;kadu (Negative Marking) i)fr viuk;h

tk;sxhA mEehnokj }kjk izR;sd iz”u ds fy, fn, x, xyr mÙkj ds fy, ;k mEehnokj }kjk ,d iz”u ds ,d ls vf/kd mÙkj
nsus ds fy, ¼pkgs fn, x, mÙkj esa ls ,d lgh gh D;ksa u gks½] ml iz”u ds fy, fn, tkus okys vadksa dk ,d pkSFkkbZ,d pkSFkkbZ,d pkSFkkbZ,d pkSFkkbZ,d pkSFkkbZ n.M ds
:i esa dkVk tk,xkA n.M Lo:i izkIr vadksa ds ;ksx dks dqy izkIrkad esa ls ?kVk;k tk;sxkA

10-10-10-10-10- vius mÙkj vkidks vyx ls fn;s x;s mÙkj&i=d esa vafdr djus gSaA vkidks vius lHkh mÙkj dsoy mÙkj&i=d ij gh nsusvkidks vius lHkh mÙkj dsoy mÙkj&i=d ij gh nsusvkidks vius lHkh mÙkj dsoy mÙkj&i=d ij gh nsusvkidks vius lHkh mÙkj dsoy mÙkj&i=d ij gh nsusvkidks vius lHkh mÙkj dsoy mÙkj&i=d ij gh nsus
gSaAgSaAgSaAgSaAgSaA mÙkj&i=d ds vfrfjDr vU; dgha ij fn;k x;k mÙkj ekU; u gksxkA

11-11-11-11-11- mÙkj&i=d ij dqN fy[kus ds iwoZ mlesa fn;s x;s lHkh vuqns”kksa dks lko/kkuhiwoZd i<+ ysaA tks lwpuk;sa mlesa okafNr gksa mUgs vHkhmUgs vHkhmUgs vHkhmUgs vHkhmUgs vHkh
HkjHkjHkjHkjHkj ysaA

12-12-12-12-12- ijh{kk lekfIr ds mijkUr vUrjh{kd dks mÙkj&i=d okil ykSVk nsaA
13-13-13-13-13- ;fn vkius bu vuqns”kksa dks i<+ fy;k gS] bl i`’B ij viuk vuqØekad vafdr dj fn;k gS vkSj mÙkj&i=d ij okafNr lwpuk;sa

Hkj nh gSa] rks rc rd bUrtkj djsa tc rd vkidks iz”u&iqfLrdk [kksyus dks ugha dgk tkrkA

egRoiw.kZ %&egRoiw.kZ %&egRoiw.kZ %&egRoiw.kZ %&egRoiw.kZ %& iz”u&iqfLrdk [kksyus ij rqjUr tk¡p dj ns[k ysa fd iz”u&iqfLrdk ds lHkh ist Hkyh&Hkk¡fr Nis gq, gSaA ;fn iz”u&iqfLrdk
esa dksbZ deh gks rks vUrjh{kd dks fn[kkdj mlh lhjht dh nwljh iz”u&iqfLrdk izkIr dj ysaA

isij lhy [kksys cxSj bl rjQ ls mÙkjisij lhy [kksys cxSj bl rjQ ls mÙkjisij lhy [kksys cxSj bl rjQ ls mÙkjisij lhy [kksys cxSj bl rjQ ls mÙkjisij lhy [kksys cxSj bl rjQ ls mÙkj     “khV dks ckgj fudkysaA“khV dks ckgj fudkysaA“khV dks ckgj fudkysaA“khV dks ckgj fudkysaA“khV dks ckgj fudkysaA
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1. A control system is defined by, )1(125
6 2

2

2
tex

dt

dx

dt

xd −−=++  The response of system at

→∝t  is:-
(a) x = 6 (b) x = 2
(c) x = 2.4 (d) x = -2

2. The closed loop transfer function of a control system is : 

For input r(t) = sin t, the steady state value of C(t) is :-

(a) 1 (b)
2

1
cos t

(c)
2

1
sin t (d)

2

1
sin (t-

4

π
)

3. The steady state error due to a step input for type 1 system is :-

(a) Infinite (b) Negative

(c) Negligible (d) Zero

4. The roots of a closed loop characteristic equation for the system shown are :-

               

R(s)

(a) - 4, -10 (b) -4, -6

(c) -4, +6 (d) -4, +10

5. The type of the system having transfer function G(s)H(s)=
3s2ss

K
23 ++  is :-

(a) 1 (b) 2

(c) 3 (d) 4
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1 - ,d fu;a=.k ra= ifjHkkf”””””kr gS )1(125
6 2

2

2
tex

dt

dx

dt

xd −−=++  ra= dh vuqfØ;k →∝t  ij

gksxh %&
(a) x = 6 (b) x = 2

(c) x = 2.4 (d) x = -2

2 - ,d can&ywi fu;a=.k ra= dk vUrj.k Qyu gS 

s1

1

R(s)

C(s)

+
=

fuos’k r(t) = sin t ds fy, C(t) dh fLFkj voLFkk dk eku gksxk %&

(a) 1 (b)
2

1
cos t

(c)
2

1
sin t (d)

2

1
sin (t-

4

π
)

3 - ,d ikn fuos’k ds fy,] Vkbi 1 izdkj ds ra= ds fy, fLFkj voLFkk =qfV gksrh gS %&

(a) vuUr (b) _.kkRed

(c) ux.; (d) ’ k w U;

4 - n’kkZ, x;s ra= dh can ywi vfHkykf{kd lehdj.k ds ewy gS %&

             

+

1/s

24
s + 10

R(s) C(s)

(a) - 4, -10 (b) -4, -6

(c) -4, +6 (d) -4, +10

5 - vUrj.k Qyu G(s)H(s)=
3s2ss

K
23 ++

 okys ra= dk Vkbi gS%&

(a) 1 (b) 2

(c) 3 (d) 4

fo|qr vfHk;a=.k vfHk;a=.k vfHk;a=.k vfHk;a=.k vfHk;a=.k (iz”u&i=&iz”u&i=&iz”u&i=&iz”u&i=&iz”u&i=&I)



(4) Series-AESE-08

6. The impulse response of the system 4)2)(ss(s

8

R(s)

C(s)

++
=  is :-

(a) C (t) = 2 - e-2t+e-4t (b) C (t) = 1+2e-2t - 4e-4t

(c) C (t) = 1- 2e-2t+e-4t (d) C (t) = 2+e-2t - 4e-4t

7. The overall transfer function for the signal flow graph shown, is :-

                 
C

-H2

G2

H1

G11 1
R

(a) G
1
G

2 
/ (1-G

1
G

2
H

1
+ G

2
H

2
) (b) G

1
G

2 
/ (1+G

1
G

2
H

1
+ G

2
H

2
)

(c) G
1
G

2 
/ (1-G

1
G

2
H

1
- G

2
H

2
) (d) G

1
G

2 
/ (1+ G

1
G

2
H

2
+ G

2
H

1
)

8. The transfer function for the network shown, is :-

                              

R

C eoei

(a) 1/(RCs+1) (b) (RCs+1)

(c) 1/(
C

R
s+1) (d) (

C

R
s+1)

9. The value of function f(s) = 
3s

2
2 +

 at t = 0, is :-

(a) 3 (b) 2

(c) 3 / 2 (d) Zero

10. The initial slope of the Bode plot gives an indication of :-

(a) Nature of the system time response(b) System stability

(c) Gain margin (d) Type of the system

11. The value of k at which the root locus crosses the imaginary axis, makes the system :-

(a) Stable (b) Underdamped

(c) Marginally stable (d) Unstable
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6 -

4)2)(ss(s

8

R(s)

C(s)

++
=

 okys ra= dh vkosx vuqfØ;k gksxh %&

(a) C (t) = 2 - e-2t+e-4t
(b) C (t) = 1+2e-2t - 4e-4t

(c) C (t) = 1- 2e-2t+e-4t
(d) C (t) = 2+e-2t - 4e-4t

7 - n’kkZ, x;s ladsr izokg vksj[k dk vfUre vUrj.k Qyu gksxk%&

        
C

-H2

G2

H1

G11 1
R

(a) G
1
G

2 
/ (1-G

1
G

2
H

1
+ G

2
H

2
) (b) G

1
G

2 
/ (1+G

1
G

2
H

1
+ G

2
H

2
)

(c) G
1
G

2 
/ (1-G

1
G

2
H

1
- G

2
H

2
) s (d) G

1
G

2 
/ (1+ G

1
G

2
H

2
+ G

2
H

1
)

8 - n’kkZ, x, usVodZ dk vUrj.k Qyu gksxk%&

       

R

C eoei

(a) 1/(RCs+1) (b) (RCs+1)

(c) 1/(
C

R
s+1) (d) (

C

R
s+1)

9 - Qyu dk eku  f(s) = 
3s

2
2 +

 t = 0 ij gksxk%&

(a) 3 (b) 2
(c) 3 @2 (d)‘ ’ k w U;

10- cksMs vkjs[k esa vkjfEHkd izo.krk n’kkZrh gS %&
(a) r=a dh le; vuqfØ;k dh izo`fr (b) ra= dk LFkkbRo
(c) xsu ekftZu (d) ra= dk izdkj ¼Vkbi½

11- k dk og eku ftl ij ewy fcUnq iFk dkYifud v{k dks dkVrk gS] rU= dks cukrk gS %&
(a) LFkk;h (b) vUMj MSEiM
(c) ektZuyh LFkk;h (d) vLFkk;h
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12. For the following characteristic equation, the centroid of the root locus plot is

s3+2s2+ks+k=0

(a) 0.5 (b) -0.5
(c) -1 (d) 1

13. The transfer function of a system is G(s) =

If the damping ratio is unity, the value of k is :-
(a) 1 / 6 (b) 1 / 12
(c) 1 / 24 (d) 1 / 36

14. Let, A =  , the state transition matrix eAt will be:-

(a) 








1

0

0

1
(b) 








t

t

e

e 0

0

(c) 








0

0 t

t

e

e (d) 







t

t

e

e 1

1

15. Transfer function of a control system is:

611s6ss

2

(s)

Y(s)
23 +++

=
U    , the system is :

(a) Controllable and observable (b) Controllable but not observable
(c) Observable but not controllable (d) neither controllable nor observable

16. The output of a linear system for a unit step input is given by t2.e-t. The transfer function of
the system will be :-
(a) s/(s+1)3 (b) 2/s(s+1)2

(c) 1/s2(s+1) (d) 2.s/(s+1)3

17. The transfer function of the system whose Bode plot is shown, will be

                    

1 10

6 db
db

�

-20db/dec
+20db/dec

(a) 10 s /(s+1) (s+10) (b) 20 s /(s+1)(s+10)

(c) 10/(s+1)2 (s+10) (d) 20/(s+1)(s+10)2
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12- fuEu vfHkykf{k.k lehdj.k ds fy,] ewy fcUnq iFk esa lsUVªksbM fcUnq gksxk

s3+2s2+ks+k=0

(a) 0.5 (b) -0.5
(c) -1 (d) 1

13- ,d r=a dk vUrj.k Qyu gS G(s) =
6sks

6s
2 ++

+

;fn voeUnu vuqikr ,d gS rks k dk eku gS %&
(a) 1 / 6 (b) 1 / 12

(c) 1 / 24 (d) 1 / 36

14- ;fn] A =  










1

0

0

1

 rc LVsV VªkUlh’ku eSfVªDl gksxh %&

(a) 








1

0

0

1
(b) 








t

t

e

e 0

0

(c) 








0

0 t

t

e

e (d) 







t

t

e

e 1

1

15- ,d fu;a=.k r=a dk vUrj.k Qyu gS

611s6ss

2

(s)

Y(s)
23 +++

=
U  ] ra= gS %&

(a) fu;a=.kh; o fujh{k.kh; (b) fu;a=.kh; fdarq fujh{k.kh; ugh
(c) fujh{k.kh; fdarq fu;a=.kh; ugh (d) u gh fu;a=.kh; u gh fujh{k.kh;

16- bdkbZ ikn fuos”””””k ij ,d js[kh; ra= dk fuxZr t2.e-t  gSA ra= dk vUrj.k Qyu gksxk%&
(a) s/(s+1)3 (b) 2/s(s+1)2

(c) 1/s2(s+1) (d) 2.s/(s+1)3

17- ftl ra= dk cksMs IyksV n’kkZ;k x;k gS mldk vURkj.k Qyu gksxk%&

                                 

1 10

6 db
db

�

-20db/dec
+20db/dec

(a) 10 s /(s+1) (s+10) (b) 20 s /(s+1)(s+10)

(c) 10/(s+1)2 (s+10) (d) 20/(s+1)(s+10)2
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18. The transfer function has its zero in the right half of the s-plane. The function:-

(a) Is positive real (b) Will give stable impulse response

(c) Is in minimum phase (d) Is in non-minimum phase

19. The maximum phase shift that can be provided by a lead compensator with transfer

function G(s)=
2s1

6s1

+
+

 :-

(a) 15° (b) 45°

(c) 30° (d) 60°

20. Let , A= , B= 








2

0
, C=[1 -1] and D=[1]. The transfer function will be :-

(a)
1/2s

5/2s

−
−

(b)

(c)
1/2s

5/2s

+
+

(d)

21. The laplace transform of the figure shown, is :-

                        

x(t)

1

t
T1 T2

(a)
S

e
S

e 21 -ST-ST

− (b)
S

e
S

e 21 -ST-ST

+

(c) 2

-ST

2

-ST

S
e

S
e 21

− (d) 2

-ST

2

-ST

S
e

S
e 21

+

22. The open loop transfer function of a unity feedback system is G (s)= 1)(0.5s
sk

+

The initial slope of Bode plot intersects 0 db line at :-

(a) ω  = k (b)

ω

 = 1/ k

(c)

ω

 = (d) ω  = 1/
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18- ,d vUrj.k Qyu ds thjks ,l&Iysu ds nkfgus v/kZ Hkkx esa gSA Qyu %&

(a) /kukRed okLrfod gS (b) nsxk LFkkbZ vkosx vuqfØ;k

(c) U;wure dyk esa gksxk (d) vU;wure dyk esa gksxk

19- ,d yhM dEiulsVj ftldk vurj.k Qyu  G(s)=
2s1

6s1

+
+

 gS] vf/kdre dyk foLFkkiu

nsxk%&

(a) 15° (b) 45°

(c) 30° (d) 60°

20- ;fn A=








−
½

½
0

0

, B= 








2

0
, C=[1 -1] ] rFkk D=[1] vUrj.k Qyu gksxk%&

(a)
1/2s

5/2s

−
−

(b)

1/2s

s

−

(c)
1/2s

5/2s

+
+

(d)

1/2s

s

+

21- n’kkZ, x, fp= dk ySiysl VªaklQkeZ gS %&

           

x(t)

1

t
T1 T2

(a)
S

e
S

e 21 -ST-ST

− (b)
S

e
S

e 21 -ST-ST

+

(c) 2

-ST

2

-ST

S
e

S
e 21

− (d) 2

-ST

2

-ST

S
e

S
e 21

+

22- ,d ,dy iqufuZos’kh ra= dk [kqyk&ywi vUrj.k Qyu gS G (s)= 1)(0.5s
sk

+

cksMs vkjs[k esa vkjfEHkd izo.krk 0 db js[kk dks dkVrh gS %&

(a) ω  = k ij (b)

ω

 = 1/ k ij

(c)

ω

 = 

k

 ij (d) ω  = 1/

k

 ij
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23. The corner frequency for the open-loop transfer function

G (jω ) H (j

ω

) =

ω

are :-
(a) 2 rad/sec and 3 rad /sec

(b)  rad/sec and 3  rad /sec

(c) 0.25 rad/sec and 0.866 rad/sec

(d) 4 rad/sec and 3  rad/sec

24. The acceptable band of the settling time ‘t
s
’ is :-

(a) ± 2%
(b)

±

10%
(c)

±

5%
(d) Both (a) and (c) depending on applications

25. A unity feedback control system has transfer function  G(s)= , its natural frequency

will be :-
(a) 1 (b) 3
(c) 6 (d) 9

26. The frequency, at which the magnitude plot in a Bode plot crosses zero db line, is termed
as :-

(a) Natural frequency (b) Corner frequency

(c) Phase crossover frequency (d) Gain crossover frequency

27. As observed from the polar plot shown :-

                             

Im

Re
-1+jo �  = + 

�

(a) GM is (+)ve, PM is (+) ve

(b) GM is (-)ve, PM is (-) ve

(c) GM is (-)ve, PM is (+) ve

(d) GM is (+)ve, PM is (-) ve
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23- [kqys&ywi vUrj.k Qyu G (jω ) H (j

ω

)=

3ωj2)ω(j

4)ωj(10
2 ++

+

dh dkuZj vko`fr;k¡ gS%&
(a) 2 jsM-@ ls- rFkk 3 jsM-@ ls-

(b)

2

 jsM-@ ls- rFkk  3  jsM-@ ls-

(c) 0.25 jsM-@ ls- rFkk 0.866 jsM-@ ls-

(d) 4 jsM-@ ls- rFkk 3  jsM-@ ls-

24- lSfV~yax Vkbe ‘t
s
’ dh Lohdk;Z cSaM gS %&

(a) ± 2%
(b)

±

10%
(c)

±

5%
(d) mi;ksxkuqlkj nksuks (a) o (c)

25- ,d bdkbZ iqufuZos’kh fu;a=.k ra= dk vUrj.k Qyu gS G(s)= 

3)s(s

9

+

, bldh izkÑfrd

vko`fr gksxh %&
(a) 1 (b) 3
(c) 6 (d) 9

26- og vko`fr] ftl ij cksMZ vkjs[k esa ifjek.k vksj[k ’kwU; Mslhcy js[kk dks ikj djrk gS]
dgykrh gS %&
(a) izkÑfrd vko`fr (b) dkuZj vko`fr
(c) dyk ik’oZxeu vko`fr (d) xsu ik’oZxeu vko`fr

27- n’kkZ, iksyj vkjs[k ds ifjos{k.k djus ij %&

              

Im

Re
-1+jo �  = + 

�

(a) GM /kukRed gS] PM /kukRed gS
(b) GM _.kkRed gS] PM _.kkRed gS
(c) GM _.kkRed gS] PM /kukRed gS
(d) GM /kukRed gS] PM _.kkRed gS
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28. The waveform of the signal )2(4)2()1(2)()(4)( −−−+−−+= ttrtrtrttx

can be represented as :-

(a)

0 1 2
t

1

x(t)

(b)

x(t)

(c)

0 1 2
t

1

x(t)

(d)

0 1 2
t

1

x(t)

3

2

29. For a second order system, the settling time for ± 2% band is given by :-

(a) 3/
ξω

n
(b) 5/

ξω

n

(c) 2/

ξω

n
(d) 4/

ξω

n

30. For the system

x

= 








40

02
X + 









1

1
4;

Y = [4 0] X

with u as unit impulse with zero initial state, the output Y is :-

(a) 2e2t (b) 4e2t

(c) 2e4t (d) 4e4t

31. An unloaded generator with a pre-fault voltage 1 pu has the following sequence

impedances : Z
0
 = j 0.15 pu, Z

1
= Z

2
= j0.25 pu. The neutral is grounded with a reactance of

0.05 pu. The fault current in pu for a single line to ground fault is :-

(a) 3.75 pu (b) 4.28 pu

(c) 6.0 pu (d) 7.25 pu
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28- fuEu ladsr dh rajx vkÑfr gS )2(4)2()1(2)()(4)( −−−+−−+= ttrtrtrttx

(a)

0 1 2
t

1

x(t)

(b)

0 1 2
t

1

x(t)

2

(c)

0 1 2
t

1

x(t)

(d)

0 1 2
t

1

x(t)

3

2

29- ,d f} dksfV ra= ds fy, ± 2% cSaM ds lkFk lsVfyax le; gksrk gS %&

(a) 3/ξω n
(b) 5/ξω n

(c) 2/

ξω

n
(d) 4/

ξω

n

30- ,d ra= gS

x

= 








40

02
X + 









1

1
4;

Y = [4 0] X

tgk¡ u ,d bdkbZ vkosx gS ftldh izkjfEHkd voLFkk ’kwU; gS rc fuxZr Y gS %&

(a) 2e2t (b) 4e2t

(c) 2e4t (d) 4e4t

31- ,d vHkkfjr tfu= ftldh =qfV ls igys dh oksYrrk 1 pu gS ,oa vuqØe izfrck/kk

Z
0
 = j 0.15 pu, Z

1
= Z

2
= j0.25 pu gSA mldk U;wVªy 0.05 pu izfr?kkr ds lkFk Hkw&laiZfdr gSA

,dy ykbu ls Hkw&=qfV /kkjk dk eku pu esa gksxkA

(a) 3.75 pu (b) 4.28 pu

(c) 6.0 pu (d) 7.25 pu
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32. If a voltage-controlled bus is treated as load bus, then which one of the following limits
would be violated?

(a) Voltage (b) Active power

(c) Reactive power (d) Phase angle

33. In a short transmission line, resistance and inductance are found to be equal and regulation
appears to be zero, then the load will be :-

(a) Unity power factor (b) Zero power factor

(c) 0.707 lagging (d) 0.707 leading

34. Magnetic field intensity (H) of a long conductor carrying current ‘I’ at a distance ‘r’ is :-

(a) I / 4 π r (b) I / 2

π

r

(c)

µ

 I / 4

π

r (d)

µ

 I / 2

π

r

35. If the positive, negative and zero sequence reactances of an element of  a power system are
0.3, 0.3 and 0.8 respectively, then the element would be a :-

(a) Synchronous generator (b) Synchronous motor

(c) Static load (d) Transmission line

36. Corona loss is less when shape of the conductor is  :-

(a) Circular (b) Flat

(c) Oval (d) Independent of shape

37. Overhead lines generally use :-

(a) Copper conductors (b) All aluminium conductors

(c) ACSR conductors (d) Insulated conductors

38. The economic size of conductor is determined by :-

(a) Kirchhoff’s law (b) Ohm’s law

(c) Kelvin’s law (d) Faraday’s law

39. If ‘r ’ is the radius of the conductor and ‘R’ the radius of the sheath of the cable. The cable
operates stably from the view point of dielectric strength if :-

(a) r /R > 1.0 (b) r / R < 1.0

(c) r / R < 0.632 (d) r / R < 0.368

40. Which of the following is not a type of insulator used in overhead transmission line?

(a) Rivet type (b) Pin type

(c) Suspension type (d) Strain type
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32- ;fn ,d oksYrrk&fu;af=r cl dks Hkkj cl ekuk tk, rc fuEu esa ls dkSu lh lhek;ksa dk
mya?ku gksxk\
(a) oksYrrk (b) lfØ;‘’k fDr
(c) izfr?kkrh; ’kfDr (d) dyk dks.k

33- ;fn ,d y?kq ikjs”””””k.k ykbu izfrjks/k ,oa iszjdRo leku gS rFkk fu;eu ’kwU; izrhr gksrk gS
rc Hkkj gksxk%&
(a) ,dy ’kfDr xq.kkad (b) ’k wU;‘’kfDr xq.kk ad
(c) 0-707 i’pxkeh (d) 0-707 vxzxkeh

34- ,d yEcs /kkjkokgh pkyd ftlesa /kkjk ‘I’  cg jgh gks ls ‘r ’ nwjh ij pqEcdh; {ks= dh rhozrk
(H) gksxh %&
(a) I / 4

π

r (b) I / 2

π

r

(c)

µ

 I / 4

π

r (d)

µ

 I / 2

π

 r

35- ;fn ,d ’kfDr ra= ds fdlh ,d rRo dk ?kukRed] _.kkRed ,oa ’kwU; vuqØe izfr?kkr
Øe’k% 0-3] 0-3 rFkk 0-8 gS] rc og rRo gksxk %&
(a) rqY;dkyh tfu= (b) rqY;dkyh eksVj
(c) fLFkj Hkkj (d) ikjs”””””k.k ykbu

36- dksjksuk gkfu pkyd ds fdl vkdkj ij de gksxh%&
(a) o`rkdkj (b) piVk
(c) v.Mkdkj (d) vkdkj ij fuHkZj ugh gS

37- fljksifj ykbuksa esa eq[;r% iz;qÙk gksrs gS %&
(a) rkez pkyd (b) iw.kZ ,Y;wehfu;e pkyd
(c) ACSR pkyd (d) bUlqysVsM pkyd

38- fdlh pkyd dk feÙkO;;h ¼,dksuksfed½ vkdkj Kkr fd;k tkrk gS%&
(a) fdjpkQl~ ds fu;e ls (b) vksgªel~ ds fu;e ls
(c) dsfYoul~ ds fu;e ls (d) QSjkMsl~ ds fu;e ls

39- fdlh dscy esa ;fn ‘r ’ pkyd dh f=T;k rFkk ‘R’   pkyd ds vkoj.k ¼’khFk½ dh f=T;k gSA
ijkoS|qr ‘’kfDr ds n`f”””””Vdks.k ls dscy fLFkj :i ls dk;Z djsxh tc %&

(a) r /R > 1.0 gks (b) r / R < 1.0 gks

(c) r / R < 0.632 gks (d) r / R < 0.368 gks

40- fuEu esa ls dkSu lk fljksifj ikjs”””””k.k ykbu esa iz;qDr gksus okys vpkyd dk izdkj ugha gS\

(a) fjosV Vkbi (b) fiu Vkbi

(c) lLiSU’ku Vkbi (d) LVªsu Vkbi
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41. A bipolar HUDC transmission line has two poles :-

(a) One positive and other negative (b) Both Positive

(c) Both negative (d) None of the above alternatives

42. While building 

Z

BUS(m x m), if the added element is a branch, then the new bus impedance
matrix will be of dimension :-

(a) m x m (b) (m + 1) x (m + 1)

(c) (m - 1) x (m - 1) (d)
2

1)m(m+
x

43. The main criterion for the design of  a distributor is :-

(a) Voltage drop (b) Corona loss

(c) Temperature rise (d) Radio interference

44. Which of the following effect represents increase in resistance due to non-uniform
distribution of current in a conductor?

(a) Proximity (b) Skin

(c) Corona (d) None of these

45. If the inductance of a line increases, transmission capacity will :-

(a) Increase (b) Decrease

(c) Remain same (d) Independent of inductance

46. Three equal impedances (R + j X) connected in delta carry a balanced line current of I
L
. The

total active and reactive power drawn by these are :-

(a) I
L

2R and I
L

2 X respectively (b) 3I
L

2R and 3I
L

2 X respectively

(c) I
L

2R/3 and I
L

2 X/3 respectively (d) I
L

2X and I
L

2 R respectively

47. If the fault current is 2000A, the relay setting is 50% and CT ratio is 400 : 5, then plug setting
multiplier will be :-

(a) 25 A (b) 15 A

(c) 50 A (d) 10 A

48. A conductor is composed of seven identical copper strands of radius ‘r’ each. What is the self
GMD (Geometric Mean Distance) of the conductor?

(a) 2.771 r (b) 2.177 r

(c) 7.122 r (d) 7.777 r



(17) Series-AESE-08

41- ,d f}/kzqoh; mPp oksYrrk fn”””””V /kkjk ikjs”””””k.k ykbu ds nks /kzqo gksrs gS %&

(a) ,d /kukRed rFkk nwljk _.kkRed (b) nksuks a /kukRed

(c) nksuks a _.kkRed (d) mijksDr esa ls dksbZ fodYi ugh

42-

Z

BUS
 (m x m) dks fufeZr djrs le; ;fn tksM+k x;k rRo ,d ’kk[kk gks rc uohu cl

izfrck/kk eSfVªDl dh foek gksxh %&

(a) m x m (b) (m + 1) x (m + 1)

(c) (m - 1) x (m - 1) (d)
2

1)m(m+
x

2

1)m(m−

43- ,d forjd dh vfHkdYiuk dk eq[; dkjd gksrk gS %&

(a) oksYrrk ikr (b) dksjksuk gkfu

(c) rkieku o`f) (d) jsfM;ks O;frdj.k

44- ,d pkyd esa /kkjk ds vleku forj.k ds Lo:i izfrjks/k esa gqbZ o`f) dks fuEu esa ls dkSu
lk izHkko ifjyf{kr djrk gS \

(a) izk sfDlfeVh (b) fLdu

(c) dksjk suk (d) buesa ls dksbZ ugh

45- ;fn ,d ykbu dk izsjdRo c<+k fn;k tk,] rc ikjs”””””k.k {kerk %&

(a) c<s +xh (b) ?kVsxh

(c) vifjofrZr jgsxh (d) izsjdRp ij fuHkZj ugh djrh

46- MsYVk esa la;ksftr rhu cjkcj izfrck/kk;s (R + j X) larqfyr ykbu /kkjk I
L 
dk okgu dj jgh

gSaA buds }kjk dqy lfØ; o izfrfØ;kRed ’kfDr;k¡ vgfjr dh tk jgh gS %&

(a) Øe’k% I
L

2R rFkk I
L

2 X (b) Øe’k% 3I
L

2R rFkk 3I
L

2 X

(c) Øe’k% I
L

2R/3 rFkk I
L

2 X/3 (d) Øe’k% I
L

2X rFkk I
L

2 R

47- ;fn nks”””””k /kkjk 2000A gS] fjys lsfVax 50% rFkk CT vuqikr 400 : 5 gS rc Iyx lsfVax xq.kkad
gksxk%&
(a) 25 A (b) 15 A

(c) 50 A (d) 10 A

48- ,d pkyd ‘r ’ f=T;k ds lkr leku rkacs ds LVSªaMl~ ls cuk gSA pkyd dh Lo th0 ,e0 Mh0
¼T;kferh; vkSlr nwjh½ D;k gksxh\
(a) 2.771 r (b) 2.177 r

(c) 7.122 r (d) 7.777 r
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49. The velocity of a travelling wave through a cable of relative permittivity of 9 is :-

(a) 9 x 10 8 m/sec (b) 3 x 10 8 m/sec

(c) 10 8 m/sec (d) 2 x 108 m/sec

50. The per unit impedance of a synchronous machine is 0.242. If the base voltage is increased
by 1.1 times, the per unit value will be :-

(a) 0.200 (b) 0.266

(c) 0.242 (d) 0.220

51. The critical clearing time of a fault in power systems is related to :-

(a) Reactive power limit (b) Transient stability limit

(c) Steady state stability limit (d) Short-circuit current limit

52. The leakage resistance of a 50 km long cable is 1 M

Ω

. For a 100 km long cable it will be :-

(a) 1 M

Ω

(b) 2 M

Ω

(c) 0.66 M

Ω

(d) 0.5 M

Ω

53. A single phase load of 100 kVA is delivered at 2000V over a transmission line having R=1.4

Ω
and X = 0.8

Ω
 . The voltage at the sending end, when the power factor of the load is unity,

will be :-

(a) 1.68 kV (b) 2.98 kV

(c) 2.70 kV (d) 2.84 kV

54. The breakdown strength at STP is 21 kV/cm. It’s breakdown strength at 30°C and 72 cm of
Hg. will be :-

(a) 21.25 kV/cm (b) 20.2 kV/cm

(c) 23 kV/cm (d) 19.5 kV/cm

55. The coefficient of reflection of voltage for a short circuited line is :-

(a) 1.0 (b) -1.0

(c) 0 (d) 2.0

56. String efficiency of a suspension insulator string is improved by :-

(a) longer cross arm

(b) Using discs of different sizes

(c) Using guard ring

(d) Capacitive grading
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49- 9 lkis{k izos’krk ¼fjysfVo ijfefVfoVh½ okyh ,d dscy esa izxkeh rjax dh xfr gksxh%&
(a) 9 x 10 8 m/sec (b) 3 x 10 8 m/sec

(c) 10 8 m/sec (d) 2 x 108 m/sec

50- ,d rqY;dkyh e’khu dh izfr bdkbZ izfrck/kk 0-242 gSA ;fn vk/kkj oksYrrk dks 1-1 xq.kk
c<+k fn;k tk, rc izfr bdkbZ eku gks tk,xk%&
(a) 0-200 (b) 0-266
(c) 0-242 (d) 0-220

51- ’kfDr rU=ksa esa nks”””””k dk Økafrd ’kks/ku le; lacaf/kr gS %&
(a) izfrfØ;kRed ’kfDr lhek ls (b) rkR{kf.kd LFkkf;Ro lhek ls
(c) fLFkjkoLFkk LFkkf;Ro lhek ls (d) y?kq&ifFkr /kkjk lhek ls

52- 50 fd0eh0 yEch ,d dscy dh yhdst izfrjks/k 1 M

Ω

 gSA 100 fd0eh0 yEch dscy ds fy,
;g gksxk %&

(a) 1 M

Ω

(b) 2 M

Ω

(c) 0.66 M

Ω

(d) 0.5 M

Ω

53- ,d ikjs”””””k.k ykbu] ftldk R=1.4

Ω

 o  X = 0.8

Ω

 gS] 100 kVA ds ,d&dyh; Hkkj dks
2000V ij iksf”””””kr dj jgh gSA ;fn Hkkj dk ‘’kfDr xq.akkd bdkbZ gks rc izs”””””kd fljs ij
oksYrrk gksxh%&
(a) 1.68 kV (b) 2.98 kV

(c) 2.70 kV (d) 2.84 kV

54- ok;q dh STP ij Hkatu {kerk 21 kV/cm gSA 30°C rFkk 72 cm iksj ij bldh Hkatu {kerk
gk sxh%&
(a) 21.25 kV/cm (b) 20.2 kV/cm
(c) 23 kV/cm (d) 19.5 kV/cm

55- y?kqifFkr ykbu esa oksYrrk dk ijkorZu xq.kkad gksrk gS%&
(a) 1.0 (b) -1.0

(c) 0 (d) 2.0

56- ,d fuyEcu dqpkyd yM+h dh yM+h n{krk dks lq/kkjk tkrk gS%&
(a) yEch Økl Hkqtk iz;ksx dj
(b) fofHkUu vkdkj dh r’rfj;ksa dk iz;ksx dj
(c) xkMZ fjax dk iz;ksx dj
(d) /kkfjrk dk Js.khÑr dj
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57. In a n-phase one way convertor, the d.c. output voltage is :-

(a) (b) /n)(π

n)/(πE sinm

(c) 2/mE (d) /n)(π

n)/(πE cosm

58. A power station consists of two synchronous generators  A & B of ratings 250 MVA and
500MVA with inertia 1.6 pu and 1.0 pu respectively on their own base MVA ratings. The
equivalent pu inertia constant for the system on 100 MVA common base is :-

(a) 2.6 (b) 1.625

(c) 0.615 (d) 2.0

59. In bundle conductors, if ‘D
s
’ is the Geometric Mean Radius (GMR) of each subconductor

and ‘d’ is the bundle spacing as shown in fig. then for the two subconductor bundle :-

                            'd'

(a)

D

(b) 2/1b
s d)x(DD s=

(c) 2
s d)x(DDb

s = (d) 3b
s d)x(DD s=

60. In a power system, the maximum number of buses are :-

(a) PV buses (b) Slack buses

(c) PQ buses (d) any of the above

61. Incase of dc series motor, it is possible to have finite no-load speed if a resistance is connected
across its :-

(a) Field terminals

(b) Armature terminals

(c) Field and armature together

(d) It is not possible

62. A single phase full bridge diode rectifier delivers a constant load current of 10A. Average and
rms values of source current are respectively:-

(a) 5A, 10A (b) 10A, 10A

(c) 5A, 5A (d) 0A, 10A

63. A power semiconductor may undergo damage due to :-

(a) High di/dt (b) Low di/dt

(c) High dv/dt (d) Low dv/dt
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57- ,d n&dyk ,dy iFk ifjorZd esa f}”””””V&/kkjk fuxZr oksYrrk gS %&

(a) /n)(π

n)/(πEm
(b) /n)(π

n)/(πE sinm

(c) 2/mE (d) /n)(π

n)/(πE cosm

58- ,d ikoj LVs’ku esa 250 MVA ,oa 500MVA jsfVax okys nks rqY;dkyh tfu= ^v^ o ^c^
ftudk vius Loa; ds vk/kkj MVA jsfVaxl~ ij tM+Ro Øe’k% 1.6 pu o 1.0 pu gSA 100 MVA

ds mHk;fu”””””B vk/kkj ij lerqY; tM+Ro fLFkjkad gksxk%&
(a) 2.6 (b) 1.625

(c) 0.615 (d) 2.0

59- ;fn caMy pkydks esa lHkh mipkydksa dk T;kfefr vkSlr f=T;k (GMR) ‘D
s
’ gks rFkk ‘d’

caMy nwjh gks tSlk fp= esa n’kkZ;k x;k gS] rc nks mipkydksa ds caMy gsrq %&

                      'd'

(a)

d)x(DD s
b
s =

(b) 2/1b
s d)x(DD s=

(c) 2
s d)x(DDb

s = (d) 3b
s d)x(DD s=

60- ,d ’kfDr ra= esa vf/kdre cl gksrh gS%&
(a) PV cl (b) LySd cl
(c) PQ cl (d) mi;qZDr esa dksbZ Hkh

61- DC Js.kh eksVj esa uks&yksM ij lhfer xfr lEHko gS ;fn izfrjks/k dks yxk;k tk,%&
(a) {ks= fljksa ij
(b) vkesZpj fljksa ij
(c) {ks= rFkk vkesZpj fljksa ij lkFk&lkFk
(d) ;g lEHko ugha gS

62- ,d ,dy dyh; iw.kZ lsrq Mk;ksM fn”””””Vdkjh ,d fLFkj Hkkj/kkjk 10A fuxZr djrk gSA
lzksr/kkjk dk vkSlr ,oa vkj0,e0,l0 eku Øe’k% gksxk%&
(a) 5A, 10A (b) 10A, 10A

(c) 5A, 5A (d) 0A, 10A

63- ,d ’kfDr v/kZpkyd esa {kfr gks ldrh gS fuEu dkj.k ls %&
(a) mPp di/dt (b) fuEu di/dt

(c) mPp dv/dt (d) fuEu dv/dt
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64. A pulse transformer is used in a driver circuit :-

(a) To prevent dc triggering

(b) To shape the trigger signal

(c) To generate high frequency pulses

(d) To provide isolation

65. A 3-phase delta connected squirrel cage induction motor when started with DOL starter has a
starting torque of 600 Nm. Its starting torque when star-delta is used will be :-

(a) 600 Nm (b) 200 Nm

(c) 300 Nm (d) 400 Nm

66. In a single phase semiconverter for continuous conduction, each SCR conducts for :-

(a) α (b)

π

(c)

α

(d)

π

67. A chopper, whose voltage as well as current remain negative, is known as :-

(a) Type-A (b) Type-B

(c) Type-C (d) Type-D

68. In order to eliminate the fifth harmonic voltage from the phase voltage of an alternator, the
coil should be pitched by :-

(a) 72° (b) 36°

(c) 15° (d) 18°

69. The power required by the pump from the motor is proportional to :-

(a) (Speed)2 (b) (Speed)3

(c) (Speed) (d) (Speed)1/2

70. The normal voltage used for dielectric heating is :-

(a) 1500 V (b) 15 kV

(c) 30 kV (d) 33 kV

71. A single-phase full wave convertor is connected across 250V ac. Its output voltage when
firing angle is 30° will be :-

(a) 195 V (b) 210 V

(c) 215 V (d) 250 V
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64- ,d iYl ifj.kkfe= dk iz;ksx pkyd ifjiFk esa fd;k tkrk gS%&
(a) DC fVªxfjax ls cpkus gsrq
(b) fVªxj ladsr dks vkdkj nsus gsrq
(c) mPp vko`fÙk iYl mRiUu djus gsrq
(d) vyxko iznku djus gsrq

65- ,d f=dyh; MsYVk la;ksftr fiatjh izsj.k eksVj dks tc DOL izkjEHkd }kjk izkjEHk fd;k
tkrk gS rc vkjfEHkd vk?kw.kZ 600 Nm gSA ;fn LVkj&MsYVk la;kstu dk iz;ksx fd;k tk,
rks vkjfEHkd vk?kw.kZ gksxk%&
(a) 600 Nm (b) 200 Nm

(c) 300 Nm (d) 400 Nm

66- fujarj pkyu gsrq ,d ,dy dyk v/kZ&ifjorZd esa izR;sd SCR pkyu djrk gS fuEu
vUrjky ds fy, %&
(a)

α

(b)

π

(c)

πα +

(d)

απ −

67- ,d pksij] ftlesa oksYrrk o /kkjk nksuks _.kkRed jgrh gS] dgykrk gS%&
(a) A-Vkbi (b) B-Vkbi
(c) C-Vkbi (d) D-Vkbi

68- ,d izR;korZd dh dyk oksYrrk esa ls ik¡poh gkjeksfud oksYrrk dks nwj djus gsrq] dq.Myh
dks fip djuk gksxk%&
(a) 72° ij (b) 36° ij
(c) 15° ij (d) 18° ij

69- iai }kjk eksVj ls oafNr ’kfDr lekuqikrh; gS %&

(a) ¼xfr½2 ds (b) ¼xfr½3 ds

(c) ¼xfr½ ds (d) ¼xfr½1@2 ds

70- ijkoS|qr rkiu esa iz;qDr gksus okyh lkekU; oksYrrk gS %&

(a) 1500 V (b) 15 kV

(c) 30 kV (d) 33 kV

71- ,d ,d&dyh; iw.kZ rajx ifjorZd dks 250V iz0 /kk0 ls tksM+k tkrk gSA tc Qk;fjax dks.k
30° gks rc fuxZr oksYrrk gksxh%&

(a) 195 V (b) 210 V

(c) 215 V (d) 250 V
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72. For heating magnetic materials using induction heating, eddy current and hysterisis losses
are respectively proportional to :-

(a) f 2 and f (b) f and f 2

(c) f 2 and f 2 (d) None of the above

73. At low values of slip ‘s’, the torque of a 3-phase induction motor is :-

(a) T 

α

(b) T α  s

(c) T 

α

 s-1 (d) T 

α

 s2

74. The rotor of a 3-phase, 4 -pole, 50 Hz induction motor is rotating at 1440 r.p.m. The value
of induced rotor current frequency will be :-

(a) 0 Hz (b) 1 Hz

(c) 2 Hz (d) 50 Hz

75. In a 3-phase induction motor, the ratio of air-gap power, rotor copper losses and developed
mechanical power is respectively :-

(a) (1 - s) : s : 1 (b) 1 : (1 -s ) : s

(c) s : (1 - s) : 1 (d) 1 : s : (1 - s)

76. If the transformer frequency is changed from 50 Hz to 60 Hz, the ratio of eddy current loss
at 60 Hz to 50 Hz at constant voltage will be :-

(a) 5 / 6 (b) 6 / 5

(c) 25 / 36 (d) 36 / 25

77. Which test is performed to determine core loss at full load of a transformer?

(a) Short circuit (b) Sumpner

(c) Open circuit (d) None of these

78. For 100% excitation in synchronous motor, the relationship between back emf E and
applied voltage V is :-

(a) E > V (b) E < V

(c) E = V (d) E 

α

 V

79. The power factor of the input power to a synchronous motor is adjusted by adjusting :-

(a) Magnitude of excitation (b) Magnitude of armature reaction

(c) Number of poles (d) None of these
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72- pqEcdh; inkFkksZ ds rkiu gsrq izsj.k rkiu iz;qDr djus ij] Hkoj/kkjk ,oa fgLVsjsfll gkfu;k¡
Øe’k% lekuqikrh gksrh gS %&

(a) f 2 and f (b) f and f 2

(c) f 2 and f 2 (d) mijksDr esa ls dksbZ ugha

73- ,d f=dyk izsj.k eksVj esa liZ.k ‘s’ ds fuEu ekuks ds fy,] cy vk?kw.kZ gksrk gS %&

(a) T 

αs

(b) T α  s

(c) T 

α

 s-1
(d) T 

α

 s2

74- ,d f=dyk] pkj /kzqo] 50 gV~tZ izsj.k eksVj dk jksVj 1440 r.p.m. ls ?kwe jgk gSA jksVj esa
izsfjr /kkjk dh vko`fr dk eku gksxk %&

(a) 0 gV~tZ (b) 1 gV~tZ

(c) 2 gV~tZ (d) 50 gV~tZ

75- ,d f=dyk izsj.k eksVj esa ok;q vUrjky ’kfDr] jksVj rkez gkfu;k¡ rFkk mRiu ;kaf=d ’kfDr
dk Øe’k% vuqikr gS %&

(a)‘ (1 - s) : s : 1 (b) 1 : (1 -s ) : s

(c) s : (1 - s) : 1 (d) 1 : s : (1 - s)

76- ,d ifj.kkfe= dh vko`fr dks 50 gV~tZ ls 60 gV~tZ ij ifjofrZr fd;k tkrk gS rc fLFkj
oksYrrk ij 60 gV~tZ rFkk 50 gV~tZ vko`fÙk;ksa ij Hkoj/kkjk gkfu;ksa dk vuqikr gksxk%&

(a) 5@6 (b) 6 @5

(c) 25 @36 (d) 36@25

77- ,d ifj.kkfe= dh iw.kZ Hkkj ØksM+ gkfu;ksa dks Kkr djus gsrq dkSu lk ifj{k.k fd;k tkrk gS\

(a) y?kq ifjiFk (b) lEiuj

(c) [kqyk ifjiFk (d) buesa ls dksbZ ugha

78- rqY;dkfyd eksVj esa ’kr izfr’kr mÙkstu ds fy,] i’; fo|qr okgd cy E ,oa fuxZr
oksYrrk V esa laca/k gksrk gS %&
(a) E > V (b) E < V
(c) E = V (d) E 

α

 V

79- ,d rqY;dkfyd eksVj esa fuosf’kr ’kfDr dk ’kfDr xq.kkad fuEu dks lek;ksftr djds fd;k
tkrk gS %&
(a) mRrstu dk ifjek.k (b) vkesZpj izfrfØ;k dk ifjek.k
(c) /kqzoksa dh la[;k (d) buesa ls dksbZ ugha
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80. A balanced 3-phase, star connected load of 120 kW takes a leading current of 100A with a
line voltage of 866V, 50 Hz. The impedance of the load per phase is :-

(a) 4 + j3 ohms (b) 4 -  j3 ohms

(c) 3 + j4 ohms (d) 3 - j4 ohms

81. The maximum efficiency of a 200 kVA transformer having an iron loss of 1800 W and full
load copper loss of 3200 W occurs at :-

(a) 100 kVA (b) 150 kVA

(c) 200 kVA (d) 125 kVA

82. In a three phase induction motor, the ratio of starting current to full load current is 12.56 and
the ratio of starting torque to full load torque is 1.6. Percentage slip at full load is :-

(a) 0.01% (b) 12.64%

(c) 1% (d) None of these

83. Skew is used in induction motors in order to reduce torque due to :-

(a) Time harmonics (b) Slot harmonics

(c) Space harmonics (d) Reverse rotating fields

84. Two identical loss less series motors connected in series across a DC supply voltage run at
speeds of N

1
 and N

2
. The ratio of their output will be :-

(a) N
2
2 : N

1
2 (b) N

1  
: N

2

(c) N
2
 : N

1
(d) 1 : 1

85. A 400V DC shunt motor takes a current of 5.6 A on no-load and 68.3A on full load. Armature

reaction weakens the field by 3%. For R
a
= 0.18

Ω

, brush voltage drop of 2V and R
f
= 200

Ω

,
the ratio of full load speed to no-load speed will be :-

(a) 0.0 (b) 0.94

(c) 1.00 (d) 3.64

86. In a 3-phase induction motor working at full load, the torque ‘T’ is related with slip ‘s’ and

supply voltage V
o
 as follows :-

(a) T 

α

 V
o
 / s (b) T 

α

 s2V
o
2

(c)

αT

(d) T α  s V
o
2

87. Field control of a DC shunt motor gives :-

(a) Constant kW drive (b) Constant torque drive

(c) Constant speed drive (d) Variable load speed drive
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80- 120 kW dk LVkj esa la;ksftr f=dyh; larqfyr Hkkj 866V, 50 gV~tZ dh ykbu oksYrrk ls
100A dh vxzxkeh /kkjk vkgfjr djrk gSA Hkkj dh izfr dyk izfrck/kk gksxh%&
(a) 4 + j3 vkse (b) 4 -  j3 vkse
(c) 3 + j4 vkse (d) 3 -  j4 vkse

81- ,d 200 kVA ifj.kkfe=] ftlesa ykSg gzkl 1800 W o iw.kZ Hkkj rkez gzkl 3200W  gS] dh
vf/kdre n{krk gksxh%&
(a) 100 kVA ij (b) 150 kVA ij
(c) 200 kVA ij (d) 125 kVA ij

82- ,d f=dyh; izsj.k eksVj esa izkjfEHkd /kkjk o iw.kZ&Hkkj /kkjk dk vuqikr 12-56 gS rFkk
izkjfEHkd cyk?kw.kZ o iw.kZ&Hkkj cyk?kw.kZ dk vuqikr 1-6 gSA iw.kZ&Hkkj ij izfr’kr liZ.k gS%&
(a) 0.01% (b) 12.64%

(c) 1% (d) buesa ls dksbZ ugh

83- izsj.k eksVj esa Ldw; iz;qDr fd;k tkrk gS fuEu izdkj ds cyk?kw.kZ dks de djus gsrq %&
(a) le; gkjeksfuDl (b) LyksV gkjeksfuDl
(c) Lisl gkjeksfuDl (d) foijhr ?kw.kh; {ks=

84- nks leku gkfu jfgr Js.kh eksVj] tks fd Js.kh Øe esa ,d fn0/kk0 oksYrrk ls la;ksftr gS]
N

1
  o N

2 
xfr ij pkfyr gSA muds fuxZr dk vuqikr gksxk%&

(a) N
2
2 : N

1
2 (b) N

1  
: N

2

(c) N
2
 : N

1
(d) 1 : 1

85- ,d 400V fn0/kk0 ’kaV eksVj dh Hkkj jfgr /kkjk 5.6 A o iw.kZ&Hkkj /kkjk 68.3A  gSA vkesZpj

izfrfØ;k {ks= dks 3% detksj djrk gSA R
a
= 0.18

Ω

, 2V cz’k oksYrrk ikr o R
f
= 200

Ω

 ds
fy, iw.kZHkkj xfr rFkk Hkkj jfgr xfr esa vuqikr gksxk%&
(a) 0.0 (b) 0.94
(c) 1.00 (d) 3.64

86- iw.kZ Hkkj ij dk;Z dj jgh ,d f=dyk izsj.k eksVj esa] cyk?kw.kZ ‘T’  dk liZ.k ‘s’ o fuosf’kr

oksYrrk V
o
 ls laca/k fuEukuqlkj gS%&

(a) T 

α

 V
o
 / s (b) T 

α

 s2V
o
2

(c)

2s

V
αT

2
o

(d) T α  s V
o
2

87- fn0 /kk0 ’akV eksVj dk {ks= fu;a=.k nsrk gS%&
(a) fLFkj kW  Mªkbo (b) fLFkj cyk?kw.kZ Mªkbo
(c) fLFkj xfr Mªkbo (d) ifjorZuh; Hkkj xfr Mªkbo
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88. A 2-phase, 4-pole permanent magnet stepper motor has a step of :-
(a) 90° (b) 45°

(c) 30° (d) 22

89. In hand tool applications, the single-phase motor used is :-
(a) ac series motor (b) Shaded pole motor
(c) Capacitor start motor (d) Capacitor run motor

90. The emf per turn for a single phase 2200/220 V, 50 Hz transformer is approximately 12V. The
number of primary and secondary turns are :-
(a) 18, 183 (b) 183, 18
(c) 155, 26 (d) 172, 21

91. Which of the following motors is preferred when quick speed reversal is the main
consideration?
(a) Squirrel cage induction motor (b) Wound rotor induction motor
(c) Synchronous motor (d) D.C. motor

92. In a DC machine, the angle between the stator and rotor fields is :-
(a) Dependent upon the load (b) 45°
(c) 90° (d) 180°

93. If stator impedance is neglected, the maximum torque in an induction motor occurs at a rotor
resistance of :-

(a) (1 + s) x
2

(b) (1 - s) x
2

(c) s x
2

(d)  x
2

94. A 6 pole, wave connected DC armature has 250 conductors and runs at 1200 rpm. The emf
generated is 600V. The useful Flux/pole is :-
(a) 0.04 Wb (b) 0.4 Wb
(c) 4.0 Wb (d) 0.44 Wb

95. A single phase, 2000V alternator has armature resistance and reactance of  0.8

Ω

 and 4.94

Ω

respectively. The voltage regulation of the alternator at 100A load at 0.8 leading power factor
is :-
(a) 7% (b) -8.9%
(c) 14% (d) 0%

96. In a 3-phase induction machine the slip rings of the machine are open-circuited. The frequency
of the voltage across the slip rings is 75 Hz. The rotor is driven at a speed of :-
(a) 750 rpm (b) 1500 rpm
(c) 2250 rpm (d) 3750 rpm
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88- ,d nks&dyk] pkj&/kzqo LFkkbZ pqEcd LVSij eksVj dk ,d Øe gksxk%&
(a) 90° (b) 45°

(c) 30° (d) 22

2

1 o

89- gLr iz;qDr mi;a=ks ds mi;ksxksa esa fuEu ,d&dyk eksVj iz;ksx dh tkrh gS%&
(a) izk0 /kk0 Js.kh eksVj (b) ’ksMsM /kz qo eksVj
(c) la/kkfj= izkjEHku eksVj (d) la/kkfj= pkfyr eksVj

90- ,d 2200/220 V, 50 gV~tZ ,d dyk ifj.kkfe= dk fo|qr okgd cy yxHkx 12V izfr pØ gSA
izkFkfed ,oa f}rh;d dq.Myh esa pØksa dh la[;k gksxh%&
(a) 18, 183 (b) 183, 18
(c) 155, 26 (d) 172, 21

91- rRdky xfr fn’kk ifjorZu gsrq fuEu esa ls dkSu lh eksVj iz;qDr dh tkrh gS%&
(a) fiatjh izsj.k eksVj (b) okmUM jksVj izsj.k eksVj
(c) rqY;dkyh eksVj (d) fn0 /kk0 eksVj

92- fn0 /kk0 e’khu esa] LVsVj ,oa jksVj {ks=ksa ds e/; dks.k gksrk gS%&
(a) Hkkj ij fuHkZj (b) 45°
(c) 90° (d) 180°

93- ;fn LVsVj izfrck/kk dks ux.; eku fy;k tk, rc ,d izsj.k eksVj dk vf/kdre cyk?kw.kZ
fuEu jksVj izfrjks/k ij izkIr gksrk gS %&

(a) (1 + s) x
2

(b) (1 - s) x
2

(c) s x
2

(d)  x
2

94- ,d 6 /kqzoh;] fn0/kk0 rjax vkÑfr la;ksftr vkesZpj esa 250 pkyd gS rFkk ;g 1200 rpm
ij pyk;eku gSA mRiUu fo|qr ckgd cy 600V gSA mi;ksxh ¶yDl izfr /kqzo gS%&
(a) 0.04 Wb (b) 0.4 Wb
(c) 4.0 Wb (d) 0.44 Wb

95- ,d dyk 2000V izR;korZd ds vkesZpj dk izfrjks/k o izfr/kkr Øe’k%  0.8

Ω

 rFkk 4.94

Ω

 gSA
0.8 vxzxkeh ’kfDr xq.kkad ij 100A ds Hkkj ds fy, bldk oksYrrk fu;eu gS %&
(a) 7% (b) -8.9%

(c) 14% (d) 0%

96- ,d f=dyk izsj.k eksVj ds fLyi fjax ds fljs [kqys ifjiFk esa gSA fLyi fjax ds fljks ij
oksYrrk dh vko`fr 75 gV~lZ gSA jksVj fuEu xfr ij xfreku gS%&
(a) 750 rpm (b) 1500 rpm

(c) 2250 rpm (d) 3750 rpm
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97. Maximum torque in 3-phase induction motor varies as :-

(a) f (b) 1 / f

(c) 1 / f 2 (d) 1 / f 3

98. A pole pitch in electrical machines is :-

(a) = 180° electrical (b) > 180° electrical

(c) = 180° mechanical (d) < 180° electrical

99. In a single-phase transformer the magnitude of leakage reactance is twice that of resistance
of both primary and secondary. With secondary short circuited, the input power factor is :-

(a)

1/

(b) 51/

(c) 52/ (d) 1/3

100. A DC series motor drawing an armature current of I
a
 is operating under saturated magnetic

conditions. The torque developed in the motor is proportional to :-

(a) 1 / I
a

(b) 1 / I
a
2

(c) I
a
2 (d) I

a

101. A megger is used for measurement of :-

(a) Low valued resistance

(b) Medium valued resistance

(c) High valued resistance (Generaly insulation resistance)

(d) All of the above

102. VAh metering can be done by using :-

(a) A ball and disc friction gearing (b) Trivector meter

(c) Bridge connected rectifier (d) All of the above

103. A 100µ A ammeter has an internal resistance of 100

Ω

 . For extending its range to measure
500

µ

A, the shunt resistance required is :-

(a) 20 

Ω

(b) 22.22 

Ω

(c) 25 

Ω

(d) 50 

Ω

104. Measurement of power of a 3-phase balanced load is done using two wattmeter method. If
the ratio of the wattmeter readings is 2 : 1 then power factor of the circuit will be :-

(a) 0.0 (b) 1.0

(c) 0.5 (d) 0.866
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97- f=dyh; izsj.k eksVj esa vf/kdre cyk?kw.kZ fuEu ds vuq:i ifjofrZr gksrk gS%&
(a) f (b) 1 / f

(c) 1 / f 2 (d) 1 / f 3

98- oS|qr e’khuksa esa ,d iksy fip gksxk%&
(a) = 180°  oS|qr (b) > 180° oS|qr
(c) = 180° ;akf=d (d) < 180° oS|qr

99- ,d ,d&dyh; ifj.kkfe= esa {kj.k izfr/kkr dk eku izkFkfed o f}rh;d dq.Mfy;ksa nksuksa
ds izfrjks/k dk nks xq.kk gSA f}rh;d dq.Myh dks y?kq ifFkr djus ij fuxZr ’kfDr xq.kkad
gksxk%&

(a)

21/

(b) 51/

(c) 52/ (d) 1/3

100- ,d fn0 /kk0 Js.kh eksVj I
a 
vkesZpj /kkjk ds lkFk lar`Ir pqEcdh; voLFkk esa dk;Z dj jgh

gSA eksVj esa mRiu cyk?kw.kZ lekuqikrh gksxk%&

(a) 1 / I
a 
ds (b) 1 / I

a
2 ds

(c) I
a
2 ds (d) I

a 
ds

101- ,d eSxj fuEu ds ekiu gsrq iz;qDr gksrk gS %&
(a) fuEu ekfur izfrjks/k
(b) e/;e ekfur izfrjks/k
(c) mPp ekfur izfrjks/k ¼izk;% dqpkfyr izfrjks/k½
(d) mijksDr lHkh ds fy,

102- VAh ekiu fuEu ds iz;ksx }kjk fd;k tk ldrk gS%&
(a) ,d xsan rFkk fMLd fÝD’ku fx;fjax(b) VªkbosDVj ehVj
(c) lsrq la;ksftr fn”””””Vdkjh (d) mijksDr lHkh

103- ,d 100µ A ,ehVj dk vkarfjd izfrjks/k 100

Ω

 gSA ;fn blds ijkl dks 500

µ

A ekiu gsrq
c<+kuk gks rks vko’;d ’kaV izfrjks/k gksxk%&
(a) 20 

Ω

(b) 22.22 

Ω

(c) 25 

Ω

(d) 50 

Ω

104- ,d larqfyr f=dyk Hkkj dk ‘’kfDrekiu nks okVehVj fof/k }kjk fd;k tkrk gSA ;fn
okVjehVj ikB;kadksa dk vuqikr  2 : 1 gks rks ifjiFk ds‘’kfDrxq.kakd dk eku gksxk%&
(a) 0.0 (b) 1.0

(c) 0.5 (d) 0.866
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105. Capacitive transducers are normally used for :-
(a) Static measurements
(b) Dynamic measurements
(c) Both static and dynamic measurements
(d) Transient measurements

106. Which of the following is not a type of wattmeter?
(a) Moving coil permanent magnet (b) Induction
(c) Dynamometer (d) Electrostatic

107. At high frequency the accuracy of all measuring meters :-
(a) Increases
(b) Decreases
(c) Remains the same
(d) Depends upon the type of meter

108. The sensitivity of a PMMC instrument is 10k

Ω

/V. If this instrument is used in a rectifier type
voltmeter with half wave rectification, the sensitivity will be :-

(a) 10 k

Ω

/V (b) 9 k

Ω

/V

(c) 4.5 k

Ω

/V (d) 2.2 k

Ω

/V

109. A voltmeter has a resistance of 2000
Ω

. When it is connected across a DC circuit, its power
consumption is 2 mW. Suppose this voltmeter is replaced by a voltmeter of 4000

Ω

 resistance,
the power consumption will be :-
(a) 1 mW (b) 2 mW
(c) 4 mW (d) 8 mW

110. Frequency can be measured by using :-
(a) Maxwell’s bridge (b) Schering bridge
(c) Heaviside - Campbell bridge (d) Wien’s bridge

111. A null-type of instrument as compared to a deflecting type instrument has :-

(a) A higher capacity (b) A lower sensitivity

(c) A faster response (d) All of these

112. A Wattmeter has a full scale range of 2500 Watt. It has an error of 

±

1% of true value. What
would be the range of reading if true power is 1250 Watt?

(a) 1225 Watt - 1275 Watt (b) 1245 Watt - 1255 Watt

(c) 1200 Watt - 1300 Watt (d) 1237.5 Watt - 1262.5 Watt
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105- /kkfjr VªkalM~;wlj izk;% iz;qDr gksrk gS%&
(a) fLFkj ekiu ds fy,
(b) xfrt ekiu ds fy,
(c) fLFkj rFkk xfrt nksuksa ds ekiu ds fy,
(d) rkR{kf.kd ekiu ds fy,

106- fuEu esa ls dkSu lk ,d okVehVj dk izdkj ugh gS%&
(a) pyk;eku&dq.Myh LFkk;h pqEcd (b) iz sj.k
(c) Mk;ukeksehVj (d) fLFkj oS|qr

107- mPp vko`fr ij lHkh ekiu ehVjksa dh ’kq/krk%&
(a) c<+ tkrh gS (b) ?kV tkrh gS
(c) vifjofrZr jgrh gS (d) ehVj ds izdkj ij fuHkZj djrk gS

108- ,d PMMC midj.k dh laosnu’khyrk 10k

Ω

/V gSA ;fn bl midj.k dk iz;ksx fn”””””Vdkjh
izdkj ds oksYVehVj esa v)Z rajx fn”””””Vdj.k  ds lkFk fd;k tk, rks bldh laonsu’khyrk
gksxh%&

(a) 10 k

Ω

/V (b) 9 k

Ω

/V

(c) 4.5 k

Ω

/V (d) 2.2 k

Ω

/V

109- ,d oksYVehVj dk izfrjks/k 2000Ω  gSA tc bls ,d fn0/kk0 ifjiFk esa tksM+k tkrk gS rc
2 mW dk ’kfDr miHkksx gksrk gSA ;fn bl oksYVehVj ds LFkku ij 4000

Ω
 izfrjks/k okyk

oksYVehVj yxk;k tk, rc ’kfDr miHkksx gksxk%&
(a) 1 mW (b) 2 mW

(c) 4 mW (d) 8 mW

110- vko`fr dk ekiu fd;k tk ldrk gS%&
(a) eSDlosy lsrq }kjk (b) f’k;fjax lsrq }kjk
(c) gsohlkbM&dSEicsy lsrq }kjk (d) osUl lsrq }kjk

111- ,d fM¶ysfDaVx izdkj ds ;a= dh rqyuk esa ,d v’kDr izdkj dk ;a= fuEufyf[kr xq.k j[krk
gS %&
(a) mPp {kerk (b) de laosnu’khyrk
(c) rst izfrfØ;k (d) ;s lHkh

112- ,d okVehVj ds iw.kZ ijkl dh lhek 2500 Watt gSA bldh =qfV okLrfod eku dh 

±

1% gSA
blds i<+us ds ijkl dh lhek D;k gksxh tc okLrfod ’kfDr dk eku 1250 Watt gks\
(a) 1225 Watt - 1275 Watt (b) 1245 Watt - 1255 Watt
(c) 1200 Watt - 1300 Watt (d) 1237.5 Watt - 1262.5 Watt
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113. Electrostatic type instruments are primarily used as :-
(a) Ammeters (b) Wattmeters
(c) Voltmeters (d) Ohmmeters

114. In an Induction type meter, maximum torque is produced when the phase angle between two
fluxes is :-
(a) 0° (b) 45°
(c) 60° (d) 90°

115. The burden of current transformer is expressed in terms of :-
(a) Secondary winding current
(b) VA rating of transformer
(c) Voltage, current and power factor of secondary winding
(d) None of these

116. An Acquadag is used in a CRO to collect :-
(a) Primary electrons (b) Secondary emmission electrons
(c) Both (d) None of these

117. The permanent magnet in an a.c. energy meter provides :-
(a) Damping torque (b) Deflecting torque
(c) Breaking torque (d) All of these

118. Creeping in a single-phase induction type energy meter may be due to :-
(a) Overcompensation for friction (b) Over voltages
(c) Vibrations (d) All of these

119. The inductance of a high Q inductor can be measured using a :-
(a) Hay’s bridge (b) Schering bridge
(c) Wein’s bridge (d) Maxwell bridge

120. For wire wound strain gauges, the gauge factor is defined as :-

(a) 1+

ρ

∆

(b)
R

R∆2
1+

(c) υ21+ (d)

1

121. The impedance of parallel resonating circuit would be :-
(a) Zero (b) Maximum
(c) Minimum (d) Infinite
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113- oS|qr LFkSfrd izdkj ds midj.k izk;% iz;qDr gksrs gS fuEu ds fy,%&
(a) ,ehVj (b) okVehVj
(c) oksYVehVj (d) vkseehVj

114- ,d izsj.k izdkj ds ehVj esa vf/kdre cyk?kw.kZ mRiu gksrk gS tc nks ¶yDl ds chp esa dyk
dks.k gks%&
(a) 0° (b) 45°

(c) 60° (d) 90°

115- /kkjk ifj.kkfe= dk Hkkj fuEu inksa esa O;Dr fd;k tkrk gS%&
(a) f}rh; dq.Myh /kkjk
(b) ikfj.kkfe= dh VA jsfVax
(c) f}rh; dq.Myh dh oksYrrk] /kkjk rFkk ’kfDr xq.kakd
(d) buesa ls dksbZ ugh

116- ,d CRO esa ,DokMsx dk iz;ksx fd;k tkrk gS fuEu ds laxzg gsrq %&
(a) izkFkfed bysDVªku~l (b) f}rh;d mRrlftZr bysDVªku~l
(c) nksuk s (d) buesa ls dksbZ ugh

117- ,d iz0/kk0 ÅtkZ ekih eas LFkk;h pqEcd iznku djrk gS%&
(a) voeUnu cyk?kw.kZ (b) fo{ksi cyk?kw.kZ
(c) czsfdax cyk?kw.kZ (d) ;s lHkh

118- ,d ,dy dyk izsj.k izdkj ds ÅtkZ ehVj esa Øhfiax fuEu ds dkj.k gks ldrh gS%&
(a) ?k”””””kZ.k gsrq vksoj dEiUls’ku (b) vf/kd oksYrrk
(c) dEiu (d) mijksDr lHkh

119- mPp Q okys izsjd dk izsj.k fuEu dk iz;ksx dj ekik tk ldrk gS%&
(a) gs;~l lsrq (b) f’k;fjax lsrq
(c) osUl lsrq (d) eSDlosy lsrq

120- rkj dq.Mfyr foÑr ekih ds fy, ekid xq.kkad dh ifjHkk”””””kk gS %&

(a) 1+
ρ

ρ∆2
(b)

R

R∆2
1+

(c) υ21+ (d)

D

D∆2
1+

121- lekukUrj vuqukfnr ifjiFk dh izfrck/kk %&
(a) ’ k w U; (b) vf/kdre
(c) U;wUre (d) vuUr
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122. The imaginary part of admittance is called :-

(a) Resistance (b) Reactance

(c) Susceptance (d) Conductance

123. Inverse fourier transform of δ (w) is :-

(a)

δ

(t) (b) u (t)

(c) 1 (d) 1 / 2

π

124. The parameter y
12

of the following two port network is :-

                             

1

(a) y
a

(b) -y
a

(c) y
b

(d) -y
b

125. The time constant of the network shown below, is :-

                   
10V

(a)
3

2RC
(b) RC

(c) 3 RC (d) 2 RC

126. A series RLC circuit is in resonance at 100 Hz. If capacitance is made four times, the resonant
frequency will be :-
(a) 50 Hz (b) 100 Hz
(c) 200 Hz (d) 400 Hz

127. In an underdamped parallel RLC network, the time constant associated with the decaying
sinusoid oscillation is :-

(a) 1 / (2RC) (b) 2RC

(c) 1 / (LC) (d) L / C
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122- izos’;rk dk dkYifud Hkkx dgykrk gS%&

(a) izfrjks/k (b) izfr?kkr

(c) lLiVS al (d) daMDVS al

123- δ (w) dk bUolZ Qksfj;j VªaklQkeZ gksxk%&

(a)

δ

(t) (b) u (t)

(c) 1 (d) 1 / 2

π

124- fuEu nks&iksVZ usVodZ esa y
12 
dk eku gksxk%&

                  

ya

yb

1 2

1 2

(a) y
a

(b) -y
a

(c) y
b

(d) -y
b

125- n’kkZ;s x;s usVodZ esa le; fLFkjkad dk eku gS%&

           

R

10V C2R

(a)
3

2RC
(b) RC

(c) 3 RC (d) 2 RC

126- ,d Js.kh RLC ifjiFk 100 Hz ij vuquknh gSA ;fn /kkfjrk dks pkj xquk dj fn;k tk, rks
vuquknh vko`fr gksxh%&

(a) 50 gVZ~t (b) 100 gVZ~t

(c) 200 gVZ~t (d) 400 gVZ~t

127- ,d vo&voefUnr lekukUrj RLC usVodZ esa] {k; gks jgs T;k nksyu lacU/kh le; fLFkjkad
gksxk%&

(a) 1 / (2RC) (b) 2RC

(c) 1 / (LC) (d) L / C
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128. Two circuits having the same magnitudes of impedances are joined in parallel. The power
factor of one circuit is 0.8 and of other is 0.6 .The power factor of the combination is :-

(a) 0.6 (b) 0.75

(c) 0.7071 (d) 0.8

129. When maximum power transfer takes place, the efficiency of power transfer of the circuit is:-

(a) 25% (b) 50%

(c) 75% (d) 100%

130. Thevenin’s theorem cannot be applied to networks that contain elements which are :-

(a) Active (b) Passive

(c) Linear (d) Non-Linear

131. The peak value of cos (ω t + 60°) - sin (

ω

t-30°) is :-

(a) 1 (b)

(c) 2 (d) 3

132. A parallel RLC circuit is fed at a frequency of ω  rad/sec such that 

ω

. The power

factor of the circuit is :-

(a) Zero (b) Unity

(c) Leading (d) Lagging

133. At a particular instant an inductance of 1H carries a current of 2A while the voltage across it
is 1V. The energy stored in the inductance in Joules is :-
(a) 1 / 2 (b) 1
(c) 3 / 2 (d) 2

134. If the transform of  f
1
(t) = e-t u (t) is jω1

1

+ , then transform of  )()()( 11 tftftf −−=  will be:-

(a)

1

(b) 2
ω1

jω
+

(c) 2
ω1

2
+ (d) 2

ω1
1

+
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128- ,d leku ek=k dh izfrck/kk okys nks ifjiFk lekukUrj Øe esa tqMs+ gSA ,d ifjiFk dk
’kfDr xq.kakd 0.8 o nwljs dk 0.6 gSA bl la;kstu dk ’kfDr xq.kakd gksxk%&

(a) 0.6 (b) 0.75

(c) 0.7071 (d) 0.8

129- tc vf/kdre ’kfDr LFkkukUrfjr gksrh gS] rc ifjiFk ds ’kfDr LFkkukUrj.k dh n{krk gksrh
gS %&

(a) 25% (b) 50%

(c) 75% (d) 100%

130- Fksfofuu dh izes; ,sls usVodZl~ esa iz;ksx ugh dh tk ldrh gS ftuesa ,sls rRo gks tks fd%&

(a) lfØ; (b) vlfØ;

(c) jSf[kd (d) vjSf[kd

131- cos (ω t + 60°) - sin (

ω

t-30°) dk f’k[kj eku gS %&

(a) 1 (b)

2

(c) 2 (d) 3

132- ,d lekukUrj RLC ifjiFk ω  jsfM;u@lsDM- dh vko`fr ls iznRr fd;k tkrk gSA ;fn
ωC

1
ωL <

] ifjiFk dk ’kfDr xq.kakd gS%&

(a) ’ k w U; (b) bdkbZ

(c) vxzxkeh (d) i’pxkeh

133- 1 gsujh ds ,d izsjdRo esa fdlh {k.k ij /kkjk 2A ,oa oksYrrk 1V gSA izsjdRo esa lafpr ÅtkZ
twYl esa gksxh%&

(a) 1 / 2 (b) 1

(c) 3 / 2 (d) 2

134- ;fn f
1
(t) = e-t u (t) dk VªaklQkeZ jω1

1

+ ] gks rks )()()( 11 tftftf −−=  dk VªaklQkeZ gksxk%&

(a)

2
ω1
jω2-

+

(b) 2
ω1

jω
+

(c) 2ω1
2

+ (d) 2ω1
1

+
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135. For half wave symmetry, the necessary condition is :-

(a) )
2

T
(t(t) ±−= ff (b) )

2

T
(t(t) ±= ff

(c) )
2

T
(t(t) −= ff (d) )

2

T
(t(t) +−= ff

136. In a LTI system impulse response is h(n)=
n

2

1








u(n). Find the input if the output

y(n)=δ (n-2)

(a)

δ

(n-2)+1/2

δ

(n-3) (b)

δ

(n-2)-1/2

δ

(n-3)

(c) 1/2

δ

(n-2)+

δ

(n-3) (d) 1/2

δ

(n-2)-

δ

(n-3)

137. The steady state response for the signal cos(2t) of the system with transfer function

H(s)=  will be :-

(a) 2 2

1
Cos (2t - 45°) (b) 2 2

1
 Cos (2t + 45°)

(c) 2 2

1
 Cos (2t) (d)

2

1
 Cos (2t)

138. The laplace transform of shifted unit step function u (t - a) is :-

(a) 1 / s2 (b) ate
s
1

(c) at-e
s
1

(d) None of these

139. The even part of a function Sin (n-π /6) is given as :-

(a)

−

Cos (n) (b)
2

1
 Cos (n)

(c)
2

1
Sin (n) (d)

2

1− Sin (n)

140. In a series RL circuit R=20Ω , L=0.1H and frequency is 50Hz. The impedance of the circuit
would be doubled by making the value of R :-

(a) 40 

Ω

(b) 52.6 

Ω

(c) 67.5 

Ω

(d) 72.5 

Ω
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135- v)Z rjax le:irk ds fy, vko’;d n’kk gS%&

(a)

)
2

T
(t(t) ±−= ff

(b) )
2

T
(t(t) ±= ff

(c) )
2

T
(t(t) −= ff (d) )

2

T
(t(t) +−= ff

136- ,d LTI iz.kkyh dh vkosx vuqfØ;k h(n)=
n

2

1








u(n) gSA fuos”””””k Kkr fdft, ;fn fuxZr

y(n)=δ (n-2) gks%&

(a)

δ

(n-2)+1/2

δ

(n-3) (b)

δ

(n-2)-1/2

δ

(n-3)

(c) 1/2

δ

(n-2)+

δ

(n-3) (d) 1/2

δ

(n-2)-

δ

(n-3)

137- ;fn cos(2t) ladsr dks H(s)=

2)(s
1
+

 vUrj.k Qyu okys ra= ij yxk;k tkrk gS rc fLFkj

voLFkk vuqfØ;k gksxh%&

(a) 2 2

1
Cos (2t - 45°) (b) 2 2

1
 Cos (2t + 45°)

(c) 2 2

1
 Cos (2t) (d)

2

1
 Cos (2t)

138- foLFkkfir bdkbZ ikn Qyu u (t - a) dk ySiysl VªkalQkseZ gksxk%&

(a) 1 / s2 (b)
ate

s
1

(c)   
at-e

s
1

(d) buesa ls dksbZ ugh

139- Qyu Sin (n-π /6) dk le Hkkx gksxk%&

(a)

2

1−

Cos (n) (b)
2

1
 Cos (n)

(c)
2

1
Sin (n) (d)

2

1− Sin (n)

140- ,d RL Js.kh ifjiFk dk R=20Ω , L=0.1H rFkk vko`fr 50 gV~lZ gSA R ds fuEu eku ls ifjiFk
dh izfrck/kk nks xquh gks tk;sxh%&
(a) 40 

Ω

(b) 52.6

Ω

(c) 67.5 

Ω

(d) 72.5 

Ω
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141. A low pass RC circuit has  V
R
= 12V and V

c 
= 5 V . The supply voltage is :-

(a) - 7 V (b) 7 V

(c) 17 V (d) 13 V

142. In terms of ABCD parameters, a two port network is symmetrical if and only if :-

(a) A = B (b) B = C

(c) C = D (d) D = A

143. For the circuit shown, the reading in ammeter A
1
, when A

2
 and A

3
 show 12A and 9A

respectively, is :-

                            

(a) 21 A (b) 15 A

(c) 12 A (d) 9 A

144. Find the rms value of the following wave shape :-

             

0 T/2 T 3T/2 2T

1

f(t)

t

(a) 3/1 (b) 6/1

(c) 3/2 (d) 1 / 6

145. A voltage waveform V(t)=12t2 is applied across 1H inductor for t≥0,with initial current through
it being zero. The current through inductor for t 

≥

 0 will be :-

(a) 4 t3 (b) 12 t 3

(c) 24 t (d) 12 t

146. If Q of a coil is increased, its power factor will :-

(a) Decrease (b) Increase

(c) Remains same (d) None of these
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141- ,d fuEu ikl RC ifjiFk esa V
R
= 12V rFkk V

c 
= 5 V gS rks fuxZr oksYrrk gksxh%&

(a) - 7 V (b) 7 V

(c) 17 V (d) 13 V

142- ABCD iSjkehVjl~ ds lanHkZ esa] ,d f}&iksVZ usVodZ le:i gksrk gS] flQZ vkSj flQZ rc

tc%&

(a) A = B (b) B = C

(c) C = D (d) D = A

143- n’kkZ, ifjiFk esa] tc ,sehVj A
2 
o A

3
ˇØe’k% 12A rFkk 9A dk eku n’kkZ jgs gks rc A

1
 esa eku

gksxk%&

         

A1

A2 A3

(a) 21 A (b) 15 A

(c) 12 A (d) 9 A

144- fuEu rjax vkÑfr vkj0 ,e0 ,l0 eku gS%&

      

0 T/2 T 3T/2 2T

1

f(t)

t

(a) 3/1 (b) 6/1

(c) 3/2 (d) 1 / 6

145- ,d 1 gsujh izsjd ds Åij ,d oksYrrk rjax:i V(t)=12t2 yxk;k x;k gS] t ≥ 0 ds fy,
izkjfEHkd /kkjk blesa ’kwU; gSA t 

≥

 0 ds fy, izsjd esa /kkjk gksxh%&

(a) 4 t3 (b) 12 t 3

(c) 24 t (d) 12 t

146- ,d dq.Myh dk Q ;fn c<+k fn;k tk,] rc bldk ’kfDr xq.kkad %&

(a) ?kV tk,xk (b) c<+ tk,xk

(c) vifjofrZr jgsxk (d) buesa ls dksbZ ugha
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147. A balanced star connected load of 8 + j6 ohms per phase is connected to a 3-phase 230V
supply. Power being consumed by the load is :-
(a) 1410.67 W (b) 1269.6 W
(c) 4232 W (d) 2443.35 W

148. Thevenin’s equivalent voltage and resistance for the circuit shown, when R
2
 is considered

as the load resistance, are :-

                               

28V

(a) 7 V and 0Ω (b) 21 V and 7

Ω

(c) 28 V and 0

Ω

(d) 7 V and 7

Ω

149. The characteristic equation of the series RLC circuit is :-

(a) s2 + (LC) s + R / L = 0 (b) s2 +  s + R / L = 0

(c) s2 + 
L
R

 s + LC = 0 (d) s2 + 
L
R

 s + 1/LC = 0

150. If Norton’s motor is applied to find the current in resistance R
L
 as shown below. The Norton’s

equivalent current and resistance will be :-

                                    

2� 2�

5V25V RL

(a) 10A and 1Ω  respectively (b) 15A and 1

Ω

 respectively

(c) 15A and 4

Ω

 respectively (d) 10A and 4

Ω

 respectively

151. The reflection coefficient for the transmission line at ‘P’ is :-

                               

Z  = 300

(a) + 1 (b) - 1

(c) 0 (d) 0.5



(45) Series-AESE-08

147- ,d 8 + j6 vkse izfr dyk dk larqfyr Hkkj ,d f=dyh; 230V ds iznk; ls lac) gSA Hkkj
}kjk mi;ksx dh tkus okyh ’kfDr gS%&
(a) 1410.67 W (b) 1269.6 W
(c) 4232 W (d) 2443.35 W

148- n’kkZ, ifjiFk esa] tc R
2 
dks Hkkj izfrjks/k ekuk tkrk gS rc Fksfofuu lerqY; oksYrrk ,oa

izfrjks/k gks axs

                R =24 �

R =13 �R =41 �

R =22 �
7V28V

(a) 7 V o 0Ω (b) 21 V o 7

Ω

(c) 28 V o 0

Ω

(d) 7 V o 7

Ω

149- Js.kh Øe RLC ifjiFk dk vfHkyk{kf.kd lehdj.k gS%&

(a) s2 + (LC) s + R / L = 0 (b) s2 + 

(LC)

1

 s + R / L = 0

(c) s2 + 
L
R

 s + LC = 0 (d) s2 + 
L
R

 s + 1/LC = 0

150- n’kkZ, ifjiFk esa ;fn uksVZu izes; dk iz;ksx izfrjks/k R
L 
esa /kkjk Kkr djus ds fy, fd;k

tk,] rks uksVZu lerqY; /kkjk ,oa izfrjks/k Øe’k% gksaxs%&

                     

2� 2�

5V25V RL

(a) 10 A o 1Ω   Øe’k% (b) 15 A o 1 

Ω

 Øe’k%
(c) 15 A o 4 

Ω

 Øe’k% (d) 10 A o 4 

Ω

 Øe’k%

151- ikjs”””””k.k ykbu dh ‘P’ ij ijkorZu xq.kkad gS %&

                

Hkkj
300�

Z  = 3000 �

P

(a) + 1 (b) - 1
(c) 0 (d) 0.5
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152. The flux density at a point in space is given by

B

 = 4xâ
x
+2ky â

y
+8â

z
Wb/m2

The value of constant ‘k’ must be equal to:-
(a) 2 (b) -0.5
(c) 0.5 (d) -2

153. Line charge is given by which of the following :-
(a) Maxwell Equations (b) Gauss law
(c) Faraday’s law (d) Ampere’s law

154. A circular loop has its radius increasing at a rate of 2 m/s. The loop is placed perpendicular
to a constant magnetic field of 0.1 Wb/m2. When radius of the loop is 2m, the emf induced
in the loop will be :-
(a) 0.8 

π

V (b) 0.4 

π

V
(c) 0.2 

π

V (d) 0 V

155. The intrinsic impedance of a lossy dielectric medium is given by :-

(a)

σ

ω

(b)
ε

µωj

(c)
ε)ωj(σ

µωj

+ (d)
ε

µ

156. An electric field on a plane is described by its potential V = 20 (r-1 + r -2), where ‘r’ is the
distance from the source. The field is due to :-
(a) a monopole
(b) a dipole
(c) Both a monopole and a dipole
(d) A quadrupole

157. Which of the following potential does not satisfy Laplace’s equation ?
(a) V = 10 xy (b) V = 10 /π
(c) V = f. Cos

ψ

 + 10 (d) V = P. Cos 

ψ

158. Maxwell’s divergence equation for the electric field is :-

(a)

∇

(b)
o

2

ρ
E

ε
.

π
=∇

(c)
o

ρ
Ex
ε

=∇ (d)
o

2

ρ
E

ε
. =∇
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152- ;fn fdlh Lisl esa fdlh ,d fcanq ij ¶yDl ?kuRo gS

B  = 4xâ
x
+2ky â

y
+8â

z
Wb/m2

rc fLFkjkad ‘k’  dk eku gksuk pkfg,
(a) 2 (b) -0.5

(c) 0.5 (d) -2

153- js[kh; ¼ykbu½ vkos’k fuEu ls fn;k tkrk gS %&
(a) eSDlosy lehdj.k (b) xkSsl fu;e
(c) QSjkMs fu;e (d) ,Eih;j fu;e

154- ,d o`rkdkj ywi dh f=T;k 2 m/s dh nj ls c<+ jgh gSA bl ywi dks 0.1 Wb/m2. okys fLFkj
pqEcdh; {ks= ds yEcor j[kk x;k gSA tc ywi dh f=T;k 2m gks rc ywi esa iszfjr fo0
ok0c0 dk eku gksxk%&
(a) 0.8 

π

V (b) 0.4 

π

V
(c) 0.2 

π

V (d) 0 V

155- ,d {k;&;qDr ijkoS|qr ek/;e dk bfUVªfUld izfrck/kk gksrh gS %&

(a)

σ

µωj

(b)
ε

µωj

(c)
ε)ωj(σ

µωj

+ (d)
ε

µ

156- fdlh lrg ij fo|qr {ks= mlds foHko V = 20 (r-1 + r -2) }kjk of.kZr gSA tgk¡ ‘r ’ {ks= ls
nwjh gSA ;g {ks= cuk;k x;k gS%&
(a) ,d ,dy /kzqo }kjk
(b) ,d f}/kzqo }kjk
(c) nksuks ,d ,dy/kzqo rFkk ,d f}/kzqo }kjk
(d) ,d pkj&/kzqo }kjk

157- fuEu esa ls dkSu lk foHko ySIykl lehdj.k dks larq”””””V ugh djrk gS\
(a) V = 10 xy (b) V = 10 /π
(c) V = f. Cos

ψ

 + 10 (d) V = P. Cos 

ψ

158- fo|qr {ks= ds fy, eSDlosyl~ vilj.k lehdj.k gS %&

(a)

o

ρ
E
ε

. =∇

(b)
o

2

ρ
E

ε
.

π
=∇

(c)
o

ρ
Ex
ε

=∇
(d)

o
2

ρ
E

ε
. =∇
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159. The depth of penetration in a lossy dielectric increases with increasing :-

(a) Conductivity (b) Permeability

(c) Wavelength (d) Permittivity

160. The electric flux inside a conducting sphere is :-

(a) Zero (b) Uniform

(c) Minimum (d) Maximum

161. Point form of Ohm’s law is represented by the relation :-

(a)
E

J
σ= (b) EJ σ=

(c) J = 

σ

(d) EJ 2σ=

162. The forward resistance of the diode shown in figure is 5Ω . The dc component of the source
current is :-

             

(a)
50π
Vm (b)

π250

Vm

(c)
π2100

Vm
(d)

π250

2Vm

163. Frequency of oscillation of Colpitts oscillator is given by :-

(a)
eqL/C2π

1
o =f (b)

eqLC2π

1
o =f

(c) /LC2π

1
o

eq
=f (d)

eqC

L

2π

1
o =f

164. The type of power amplifier which exhibits crossover distortion in it’s output is :-

(a) Class A (b) Class B

(c) Class C (d) Class AB
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159- ,d {k;&;qDr ijkoS|qr esa ygj ds izos’k dh xgjkbZ fuEu ds lkFk c<+rh gS%&

(a) pkydrk (b) Hk sn~;rk

(c) rajx yEckbZ (d) ijfefVfoVh

160- ,d pkyfd; xksys ds Hkhrj oS|qr ¶yDl gksxk%&

(a) ’ k w U; (b) ,d leku

(c) U;wure (d) vf/kdre

161- vkse ds fu;e dks fcUnq :i esa iznf’kZr fd;k tkrk gS %&

(a)
E

J
σ= (b) EJ σ=

(c) J = 

E

2σ

(d) EJ 2σ=

162- fp= esa n’kkZ, Mk;ksM dk vxz izfrjks/k 5Ω  gSA lks= fo|qr /kkjk dk fn0 /kk0 vo;o gS%&

            
i

45VV =V  Sin ti m �

 = 50Hzfin (a)
50π
Vm

(b)
π250

Vm

(c)
π2100

Vm
(d)

π250

2Vm

163- dksyfir nksfy= dh nksyu vko`fr gksrh gS %&

(a)
eqL/C2π

1
o =f

(b)
eqLC2π

1
o =f

(c) /LC2π

1
o

eq
=f

(d)
eqC

L

2π

1
o =f

164- ’kfDr izo/kZd dk izdkj tks vius fuxZe esa Øklvksoj fMLVks’kZu iznf’kZr djrk gS] gksrk
gS %&

(a) Dykl A (b) Dykl B

(c) Dykl C (d) Dykl AB
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165. For audio applications, which of the following is most common oscillator :-

(a) Crystal Oscillator (b) LC oscillator

(c) RC oscillator (d) None of these

166. A three phase current source inverter can be operated in :-

(a) 30 degree or 90 degree mode (b) 0 degree or 60 degree mode

(c) 60 degree or 120 degree mode (d) 120 degree or 180 degree mode

167. A digital to analog converter with full scale output voltage of 3.5 V has a resolution close to
14 mV. Its bit size is :-

(a) 32 (b) 16

(c) 8 (d) 4

168. The peak inverse voltage of a full wave bridge rectifier is :-

(a) V
m

 / 2 (b) 2 V
m

(c) 2 V
m

 / 3 (d) V
m

169. Negative feedback used in amplifier results in :-

(a) More gain, more bandwidth (b) More gain, less bandwidth

(c) Less gain, more bandwidth (d) Less gain, less bandwidth

170. The Ebers-Moll model is applicable to :-

(a) Unipolar junction transistor (b) Bipolar junction transistor

(c) NMOS transistor (d) Junction field effect transistor

171. In the zener diode network shown below, the power P
Z
 dissipated by the zener diode is :-

                     V =10V2
16V

R
+

1.2k�

1k�

(a) 0 W (b) 7.27 W

(c) 8.73 W (d) 10 W
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165- Jo.kh; vuqiz;ksxksa gsrq v/;kf/kd lkekU; izdkj dk nksfy= gS %&

(a) fØLVy nksfy= (b) LC nksfy=

(c) RC nksfy= (d) buesa ls dksbZ ugha

166- ,d f=dyk /kkjk lzksr buoZVj dks fØ;kfUor fd;k tk ldrk gS %&

(a) 30 fMxzh vFkok 90 fMxzh eksM esa (b) 0 fMxzh vFkok 60 fMxzh eksM esa

(c) 60 fMxzh vFkok 120 fMxzh eksM esa (d) 120 fMxzh vFkok 180 fMxzh eksM esa

167- ,d fMftVy ls ,ukyksx ifjofrZ= ftldh iw.kZ ijkl fuxZr oksYrrk 3.5 V rFkk fjtksY;w’ku
14 mV ds lehi gSA bldk fcV eki gS%&

(a) 32 (b) 16

(c) 8 (d) 4

168- iw.kZ rjax lsrq fn”Vdkjh dh f’k[kj izrhi oksYrrk gksrh gS%&

(a) V
m

 / 2 (b) 2 V
m

(c) 2 V
m

 / 3 (d) V
m

169- izo/kZd esa _.kkRed iquZfuos’k ls izkIr gksrk gS %&

(a) vf/kd xsu] vf/kd cSaM pkSM+kbZ (b) vf/kd xsu] de cSaM pkSM+kbZ

(c) de xsu] vf/kd cSaM pkSM+kbZ (d) de xsu] de cSaM pkSM+kbZ

170- ,scjl&ekSy ekMy fuEu esa mi;qDr gksxk%&

(a) ,dy /kqzoh; laf/k VªakftLVj (b) f}/kq zoh; laf/k VªakftLVj

(c) NMOS VªakftLVj (d) tUd’ku QhYM bQSDV VªakftLVj

171- n’kkZ, x, thuj Mk;ksM usVodZ esa] thuj Mk;ksM }kjk {kFksr ¼MsflisVsM½ ’kfDr P
Z
 dk eku

gksxk %&

                  V =10V2
16V

R
+

1.2k�

1k�

(a) 0 okV (b) 7.27 okV

(c) 8.73 okV (d) 10 okV



(52) Series-AESE-08

172. In common emitter configuration of n - p - n transistor :-

(a) β =

∆

I
C
 /

∆

I
B

(b)

β

=

α

 / (1 - 

α

)

(c) Both (a) and (b) (d) None of  (a) and (b)

173. In order to make a 2-bit adder following is required :-

(a) One full and one half adder (b) One full adder

(c) Two half adders (d) One half adder

174. A linear system with system function H(s) = 1 / s  is excited with unit step input. The
output for t > 0 is given by :-

(a)

δ

(t) (b) 1

(c) t (d) t2

175. The characteristic equation of a feedback control system is 2s4+s3+3s2+5s+10 = 0. The
number of roots in the right half s-plane are:-

(a) 3 (b) 2

(c) 1 (d) Zero

176. Which of the following point is not on the root locus of a system having open loop

transfer function G(s) H(s) = :-

(a) s = - j 1.732 (b) s = - 1.5

(c) s = -3 (d) s = - ∞

177. Which of the following is not the property of state transition matrix 

φ

(t) :-

(a)

φ

(0) = I (b)

φ

-1 (t) = 

φ

 (-t)

(c)

φ

-1(t) = 

φ

(t) (d)

φ

(t) = [

φ

(-t)]-1

178. In the signal flow graph shown below, the number of forward paths and the number of
individual loops are respectively:-

                                   

(a) 2 and 5 (b) 2 and 6

(c) 1 and 7 (d) 2 and 7
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172- ,d n - p - n VªkfUtLVj tc mHk;fu”””””B mRltZd foU;kl esa gksrk gS rc %&

(a) β =

∆

I
C
 /

∆

I
B

(b)

β

=

α

 / (1 - 

α

)

(c) nksuksa (a) o (b) (d) (a) o (b) nksukas esa ls dksbZ ugh

173- ,d nks&fcV ,sMj dks cukus gsrq fuEu dh vko’;drk gksxh%&

(a) ,d iw.kZ rFkk ,d v)Z ,sMj (b) ,d iw.kZ ,sMj

(c) nks v)Z ,sMj (d) ,d v)Z ,sMj

174- ,d js[kh; fudk; ftldk rU= Qyu gS H(s) = 1 / s, dks bdkbZ ikn fuos’k ls mÙksftr fd;k
tkrk gSA t > 0 ds fy, bldk fuxZr gksxk%&

(a)

δ

(t) (b) 1

(c) t (d) t2

175- ,d iqufuZos’kh fu;a=.k iz.kkyh dk vfHkyk{kf.kd lehdj.k gS

2s4+s3+3s2+5s+10 = 0 s -Iysu ds nka;s i{k esa ewykas dh la[;k gksxh%&

(a) 3 (b) 2

(c) 1 (d) ’ k w U;

176- fuEu esa dkSu lk fcUnq] iz.kkyh ds ewy fcUnq iFk ij ugh gksxkA iz.kkyh dk [kqyk ywi

vUrj.k Qyu gS G(s) H(s) = 

3)1)(ss(s

K

++

 %&

(a) s = - j 1.732 (b) s = - 1.5

(c) s = - 3 (d) s = - ∞

177- fuEu esa ls dkSu lk LVsV VªkUlh’ku eSfVªDl 

φ

(t) dk xq.k ugh gS %&

(a)

φ

(0) = I (b)

φ

-1(t) = 

φ

 (-t)

(c)

φ

-1(t) = 

φ

(t) (d)

φ

(t) = [

φ

(-t)]-1

178- n’kkZ, x, flXuy ¶yks xzkQ esa] QkoZMZ ikFkl~ dh la[;k ,oa bfUMfotq;y ywiks dh la[;k
Øe’k% gksxh%&

                    

(a) 2 o 5 (b) 2 o 6

(c) 1 o 7 (d) 2 o 7
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179. Laplace transform of sin (ω t) is :-

(a) (b) 22 ωs

ω

−

(c) 22
ωs

s

+
(d) 22

ωs

ω

+

180. For the block diagram shown, C(s) / R (s) is :-

                                     

+ +

+ +
1/s1/s

R(s) C(s)

(a) (b)
2

2

s

1ss ++

(c)
s

1ss2 ++ (d)
1ss

1

2 ++
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179- sin (ω t) dk ySiysl VªkUlQkeZ gS %&

(a)

22 ωs

s

−

(b) 22 ωs

ω

−

(c) 22
ωs

s

+
(d) 22 ωs

ω

+

180- n’kkZ, x, Cykd vkjs[k esa C(s) / R (s)  gS %&

                          

+ +

+ +
1/s1/s

R(s) C(s)

(a)

2

2

s

1s +

(b)
2

2

s

1ss ++

(c)
s

1ss2 ++
(d)

1ss

1

2 ++


